HSC 2002 - Industrial Technology
Band 5/6 - Sample 1
Section I
60 marks
Attempt Questions 1-3

Allow about 55 minutes for this section

Answer the questions in the spaces provided.

Marks
Use the following information to answer Questions 1, 2 and 3.

I-Tech, a company operating in the timber products and furniture industry, has been
on the same site for a number of years. Owing to recent urban expansion and new

Government legislation, the company reviews its current facilities, policies and
practices.

Question 1 (20 marks)
(a)  As aresult of this review I-Tech needs to reduce its pollution levels.

(1) Identify TWO different forms of pollution that I-Tech might produce. 2
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(i1) How would the forms of pollution identified in part (a) (i) affect the local 2
community?
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Question 1 continues on page 3
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